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Attempt any Five questions.
Afl questions carry equal marks.
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1. (@)  Discuss the constitutionality of delegation of law making
power by the legislature to subordinate authority

referring to judicial decisions.
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The legislature authorized municipality to levy tax on
cinema halls without prescribing maximum limit and also
gave power 0 tevy anv new tax for the purposes of
the Act under U'.P. Mahapalika Adhiniyam Act..Discuss
with the help of judicial decisions whether it amounts
1o valid delegation of power. ‘ X
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Decide in lieht of decided cases, the validity of ihe
decision of a Departimental Promotion Committee. where
‘X" is one of the members of the committee and also
a candidate for the post. *X’s’ name appeared at
the top of the list of selected candidates for
promotions.
How far doctrine of necessity permits exclusion of rules
of natural justice ? Analyse with the help of decided
cases. 2
fafifvan @ H = § @ e et e
gifa & fafwes # fafma 1 fafea
Ffay wets x WA W TH T €A
w® & fau gaEh o ¥ ox H AW TR
¥ T oy # g F oA W siEd
T
sravaRd ¥ fagd dafts =@ @ fem @
e & fFW dw oF oHE W ¥ 2
fafsfrea ol =1 weE@ d wEw HE

PTO.



L

()

(&)

(@)

&)

( 4 ) ' 5851

Explain the doctrine of separation of powers. Discuss
whether the Constitution of india permils. separation
of powers or not and refer to relevant A.rticies of the
constituticn and judicial decisions.

What are the advantages and diszdvantases of tribunals.
Discuss the Constitutionality of Aricles 323 A(2)d) and
323 B(3}(d) of the Indian Constitution. Substantiate your
answer with judicial decisions. 20
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The Governmemt made a policy for granting exemption

from payment of tax to the newly established computer

sofiware companies in the IT Park for the period of

one vear. The Government had the power under the

faw of grant exemption to new and expanded computer

software companies. *A’ who started a new computer

software company was refused exemption from

payment of tax as it was not established in the IT

Park. ‘A’ challenged the decision of Govermment

on the ground that it fettered its discretion by making

a self-imposed policy. Decide and refer to judicial

decisions.
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"X, an engineer and also currenily doing LL.B. evening
course from Delhi University was dismissed {rom serlvice
on the charge of misconduct. afier helding an enquiry.
The presenting officer of the company was a legally
qualified person, *X" was denied legal representation by
the enquiry officer on the ground thal he is qualified
and can defend himself. Is this decision of the
enquiry officer valid ? Discuss referring to judicial
decisions. 0
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(«) Malalide exercise of power 15 an abuse of
discretionary power. Discuss with the help of decided
cascs.

{h)  What is. the obiect of the Right to [nformation Act,
2005 7 Discuss the grounds of refusal to disclose
informaiion. 1]

@ W T s T A v
gegam ¥ fafsfa %@ w1 werm ¥ fadea
Fifem

() EAT HFUF ﬁfuﬁan, 2005 T T ][
AP e - C e T B B

w1 fade Ff



C 9 ) 3851
What are the conditions Tor grant of writ of Mundevius. To
whom 1o writ can be issued and what are the grounds of

issue of the writ. Refer to judicial decisions.

A Minister ol Aviation announces in the Parliament for starting
a flight to Gulf Countries from different airports in India within
6 momhs'period. However. no flight was started within the
stipuated time. A non-resident Indian wants to file a writ of
Aandamus in the High Court compeliing the Minister to start
the flight. Advise him giving reasons, X
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7 {«)  Write a note on Parliamentary control of rule making
power through laying provisions. What are the legal
comnsequences of non-laying ? Refer to decided
cases.

(B}  Explain Wedneshury and proportionality principles with
the help of decided cases. 20
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Write short noles on any nro of the following : i)
()  Post-decisional hearing
(h)  Rule of Law

()  Consequences of non-supply of enquiry report.
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